
TE630−7R

TE630−1A_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
04 0,1s A
average

A1    A2    A3      ∆
0.037 0.991 1.457 0.003

TE630−2A_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
04 0,1s A
average

A1    A2    A3      ∆
0.037 0.991 1.457 0.003
0.037 0.991 1.457 0.003

TE630−3A_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
02 0,1s Y
average

A1    A2    A3      ∆
0.035 0.981 1.663 0.003

TE630−4A_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
02 0,1s Y
average

A1    A2    A3      ∆
0.035 0.981 1.663 0.003
0.035 0.981 1.663 0.003

TE630−5A_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
02 0,1s B
average

A1    A2    A3      ∆
0.152 0.732 1.35 0.007

TE630−6A_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
02 0,1s B
average

A1    A2    A3      ∆
0.152 0.732 1.35 0.007
0.152 0.732 1.35 0.007

TE630−7A_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
02 0,1s R
average

A1    A2    A3      ∆
0.03 1.065 0.923 0.002

TE630−8A_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
02 0,1s R
average

A1    A2    A3      ∆
0.03 1.065 0.923 0.002
0.03 1.065 0.923 0.002

TE631−1A_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
4/2 0,1s A&Y
average

A1    A2    A3      ∆
0.037 0.991 1.457 0.003
A1    A2    A3      ∆

0.035 0.981 1.663 0.003

TE631−2A_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
4/2 0,1s A&Y
average

A1    A2    A3      ∆
0.037 0.991 1.457 0.003
0.035 0.981 1.663 0.003

TE631−3A_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
4/2 0,1s A&B
average

A1    A2    A3      ∆
0.037 0.991 1.457 0.003
A1    A2    A3      ∆

0.152 0.732 1.35 0.007

TE631−4A_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
4/2 0,1s A&B
average

A1    A2    A3      ∆
0.037 0.991 1.457 0.003
0.152 0.732 1.35 0.007

TE631−5A_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
4/2 0,1s A&R
average

A1    A2    A3      ∆
0.037 0.991 1.457 0.003
A1    A2    A3      ∆

0.03 1.065 0.923 0.002

TE631−6A_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
4/2 0,1s A&R
average

A1    A2    A3      ∆
0.037 0.991 1.457 0.003
0.03 1.065 0.923 0.002

TE631−7A_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
4/1 0,1s A&G
average

A1    A2    A3      ∆
0.037 0.991 1.457 0.003
A1    A2    A3      ∆

0.265 0.731 1.448 0.0

TE631−8A_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
4/1 0,1s A&G
average

A1    A2    A3      ∆
0.037 0.991 1.457 0.003
0.265 0.731 1.448 0.0



TE630−7R

TE630−1A_2

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
04 0,1s A
average

A1    A2    A3      ∆
0.009 1.378 0.274 0.01

TE630−2A_2

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
04 0,1s A
average

A1    A2    A3      ∆
0.009 1.378 0.274 0.01
0.009 1.378 0.274 0.01

TE630−3A_2

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
02 0,1s Y
average

A1    A2    A3      ∆
0.025 1.164 0.252 0.007

TE630−4A_2

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
02 0,1s Y
average

A1    A2    A3      ∆
0.025 1.164 0.252 0.007
0.025 1.164 0.252 0.007

TE630−5A_2

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
02 0,1s B
average

A1    A2    A3      ∆
0.104 0.973 0.189 0.004

TE630−6A_2

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
02 0,1s B
average

A1    A2    A3      ∆
0.104 0.973 0.189 0.004
0.104 0.973 0.189 0.004

TE630−7A_2

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
02 0,1s R
average

A1    A2    A3      ∆
0.063 1.083 0.145 0.005

TE630−8A_2

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
02 0,1s R
average

A1    A2    A3      ∆
0.063 1.083 0.145 0.005
0.063 1.083 0.145 0.005

TE631−1A_2

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
4/2 0,1s A&Y
average

A1    A2    A3      ∆
0.009 1.378 0.274 0.01
A1    A2    A3      ∆

0.025 1.164 0.252 0.007

TE631−2A_2

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
4/2 0,1s A&Y
average

A1    A2    A3      ∆
0.009 1.378 0.274 0.01
0.025 1.164 0.252 0.007

TE631−3A_2

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
4/2 0,1s A&B
average

A1    A2    A3      ∆
0.009 1.378 0.274 0.01
A1    A2    A3      ∆

0.104 0.973 0.189 0.004

TE631−4A_2

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
4/2 0,1s A&B
average

A1    A2    A3      ∆
0.009 1.378 0.274 0.01
0.104 0.973 0.189 0.004

TE631−5A_2

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
4/2 0,1s A&R
average

A1    A2    A3      ∆
0.009 1.378 0.274 0.01
A1    A2    A3      ∆

0.063 1.083 0.145 0.005

TE631−6A_2

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
4/2 0,1s A&R
average

A1    A2    A3      ∆
0.009 1.378 0.274 0.01
0.063 1.083 0.145 0.005

TE631−7A_2

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
4/1 0,1s A&G
average

A1    A2    A3      ∆
0.009 1.378 0.274 0.01
A1    A2    A3      ∆

0.068 0.996 0.212 0.001

TE631−8A_2

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
4/1 0,1s A&G
average

A1    A2    A3      ∆
0.009 1.378 0.274 0.01
0.068 0.996 0.212 0.001



TE630−7R

TE630−1A_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
04 0,1s A
average

A1    A2    A3      ∆
0.036 1.248 0.063 0.01

TE630−2A_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
04 0,1s A
average

A1    A2    A3      ∆
0.036 1.248 0.063 0.01
0.036 1.248 0.063 0.01

TE630−3A_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
02 0,1s Y
average

A1    A2    A3      ∆
0.038 1.308 0.066 0.008

TE630−4A_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
02 0,1s Y
average

A1    A2    A3      ∆
0.038 1.308 0.066 0.008
0.038 1.308 0.066 0.008

TE630−5A_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
02 0,1s B
average

A1    A2    A3      ∆
0.086 1.187 0.039 0.002

TE630−6A_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
02 0,1s B
average

A1    A2    A3      ∆
0.086 1.187 0.039 0.002
0.086 1.187 0.039 0.002

TE630−7A_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
02 0,1s R
average

A1    A2    A3      ∆
0.074 1.042 0.036 0.018

TE630−8A_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
02 0,1s R
average

A1    A2    A3      ∆
0.074 1.042 0.036 0.018
0.074 1.042 0.036 0.018

TE631−1A_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
4/2 0,1s A&Y
average

A1    A2    A3      ∆
0.036 1.248 0.063 0.01
A1    A2    A3      ∆

0.038 1.308 0.066 0.008

TE631−2A_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
4/2 0,1s A&Y
average

A1    A2    A3      ∆
0.036 1.248 0.063 0.01
0.038 1.308 0.066 0.008

TE631−3A_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
4/2 0,1s A&B
average

A1    A2    A3      ∆
0.036 1.248 0.063 0.01
A1    A2    A3      ∆

0.086 1.187 0.039 0.002

TE631−4A_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
4/2 0,1s A&B
average

A1    A2    A3      ∆
0.036 1.248 0.063 0.01
0.086 1.187 0.039 0.002

TE631−5A_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
4/2 0,1s A&R
average

A1    A2    A3      ∆
0.036 1.248 0.063 0.01
A1    A2    A3      ∆

0.074 1.042 0.036 0.018

TE631−6A_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
4/2 0,1s A&R
average

A1    A2    A3      ∆
0.036 1.248 0.063 0.01
0.074 1.042 0.036 0.018

TE631−7A_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
4/1 0,1s A&G
average

A1    A2    A3      ∆
0.036 1.248 0.063 0.01
A1    A2    A3      ∆

0.049 1.254 0.06 0.002

TE631−8A_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
4/1 0,1s A&G
average

A1    A2    A3      ∆
0.036 1.248 0.063 0.01
0.049 1.254 0.06 0.002



TE630−7R

TE630−1A_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
04 0,1s A
average

A1    A2    A3      ∆
0.037 0.991 1.457 0.003

TE630−2A_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
04 0,1s A
average

A1    A2    A3      ∆
0.037 0.991 1.457 0.003
0.037 0.991 1.457 0.003

TE630−3A_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
02 0,1s Y
average

A1    A2    A3      ∆
0.035 0.981 1.663 0.003

TE630−4A_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
02 0,1s Y
average

A1    A2    A3      ∆
0.035 0.981 1.663 0.003
0.035 0.981 1.663 0.003

TE630−5A_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
02 0,1s B
average

A1    A2    A3      ∆
0.152 0.732 1.35 0.007

TE630−6A_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
02 0,1s B
average

A1    A2    A3      ∆
0.152 0.732 1.35 0.007
0.152 0.732 1.35 0.007

TE630−7A_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
02 0,1s R
average

A1    A2    A3      ∆
0.03 1.065 0.923 0.002

TE630−8A_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
02 0,1s R
average

A1    A2    A3      ∆
0.03 1.065 0.923 0.002
0.03 1.065 0.923 0.002

TE631−1A_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
4/2 0,1s A&Y
average

A1    A2    A3      ∆
0.037 0.991 1.457 0.003
A1    A2    A3      ∆

0.035 0.981 1.663 0.003

TE631−2A_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
4/2 0,1s A&Y
average

A1    A2    A3      ∆
0.037 0.991 1.457 0.003
0.035 0.981 1.663 0.003

TE631−3A_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
4/2 0,1s A&B
average

A1    A2    A3      ∆
0.037 0.991 1.457 0.003
A1    A2    A3      ∆

0.152 0.732 1.35 0.007

TE631−4A_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
4/2 0,1s A&B
average

A1    A2    A3      ∆
0.037 0.991 1.457 0.003
0.152 0.732 1.35 0.007

TE631−5A_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
4/2 0,1s A&R
average

A1    A2    A3      ∆
0.037 0.991 1.457 0.003
A1    A2    A3      ∆

0.03 1.065 0.923 0.002

TE631−6A_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
4/2 0,1s A&R
average

A1    A2    A3      ∆
0.037 0.991 1.457 0.003
0.03 1.065 0.923 0.002

TE631−7A_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
4/1 0,1s A&G
average

A1    A2    A3      ∆
0.037 0.991 1.457 0.003
A1    A2    A3      ∆

0.265 0.731 1.448 0.0

TE631−8A_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
4/1 0,1s A&G
average

A1    A2    A3      ∆
0.037 0.991 1.457 0.003
0.265 0.731 1.448 0.0



TE630−7R

TE630−1A_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
04 0,1s A
average

A1    A2    A3      ∆
0.009 1.378 0.274 0.01

TE630−2A_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
04 0,1s A
average

A1    A2    A3      ∆
0.009 1.378 0.274 0.01
0.009 1.378 0.274 0.01

TE630−3A_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
02 0,1s Y
average

A1    A2    A3      ∆
0.025 1.164 0.252 0.007

TE630−4A_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
02 0,1s Y
average

A1    A2    A3      ∆
0.025 1.164 0.252 0.007
0.025 1.164 0.252 0.007

TE630−5A_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
02 0,1s B
average

A1    A2    A3      ∆
0.104 0.973 0.189 0.004

TE630−6A_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
02 0,1s B
average

A1    A2    A3      ∆
0.104 0.973 0.189 0.004
0.104 0.973 0.189 0.004

TE630−7A_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
02 0,1s R
average

A1    A2    A3      ∆
0.063 1.083 0.145 0.005

TE630−8A_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
02 0,1s R
average

A1    A2    A3      ∆
0.063 1.083 0.145 0.005
0.063 1.083 0.145 0.005

TE631−1A_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
4/2 0,1s A&Y
average

A1    A2    A3      ∆
0.009 1.378 0.274 0.01
A1    A2    A3      ∆

0.025 1.164 0.252 0.007

TE631−2A_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
4/2 0,1s A&Y
average

A1    A2    A3      ∆
0.009 1.378 0.274 0.01
0.025 1.164 0.252 0.007

TE631−3A_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
4/2 0,1s A&B
average

A1    A2    A3      ∆
0.009 1.378 0.274 0.01
A1    A2    A3      ∆

0.104 0.973 0.189 0.004

TE631−4A_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
4/2 0,1s A&B
average

A1    A2    A3      ∆
0.009 1.378 0.274 0.01
0.104 0.973 0.189 0.004

TE631−5A_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
4/2 0,1s A&R
average

A1    A2    A3      ∆
0.009 1.378 0.274 0.01
A1    A2    A3      ∆

0.063 1.083 0.145 0.005

TE631−6A_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
4/2 0,1s A&R
average

A1    A2    A3      ∆
0.009 1.378 0.274 0.01
0.063 1.083 0.145 0.005

TE631−7A_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
4/1 0,1s A&G
average

A1    A2    A3      ∆
0.009 1.378 0.274 0.01
A1    A2    A3      ∆

0.068 0.996 0.212 0.001

TE631−8A_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
4/1 0,1s A&G
average

A1    A2    A3      ∆
0.009 1.378 0.274 0.01
0.068 0.996 0.212 0.001



TE630−7R

TE630−1A_6

log L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
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−1
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  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
04 0,1s A
average

A1    A2    A3      ∆
0.036 1.248 0.063 0.01

TE630−2A_6

log L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
04 0,1s A
average

A1    A2    A3      ∆
0.036 1.248 0.063 0.01
0.036 1.248 0.063 0.01

TE630−3A_6

log L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
02 0,1s Y
average

A1    A2    A3      ∆
0.038 1.308 0.066 0.008

TE630−4A_6

log L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2
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